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Question 1
Question Type: MultipleChoice

An implementation professional has extended an API template and an out-of-the box table. For both these modifications, the modified

XML file has been kept in the appropriate directory. To ensure these changes are effective, the resourses.jar and entities.jar files need to

be rebuild.

Which is the BEST way to accomplish this?

Options: 
A- Run the deployer.sh -t entitydeployer command from the %INSTALL_DIR%/bin folder

B- Run the deployer.sh -t resourcejar and then deployer.sh -t entitydeployer commands from the %INSTALL_DIR%/bin folder

C- Run the deployer.sh -t resourcejar command from the %INSTALL_DIR%/bin folder

D- Run the deployer.sh -t entitydeployer and then deployer.sh -t resourcejar commands from the %INSTALL_DIR%/bin folder

Answer: 
B



Question 2
Question Type: MultipleChoice

During a Silent installation of the application, if a user does NOT want to perform any of the database operations, which setting needs to

be configured?

Options: 
A- DB_DATA

B- REINIT_DB

C- LOAD_DEFAULTS

D- NO_DBVERIFY

Answer: 
B

Question 3
Question Type: MultipleChoice



An implementation professional needs to implement the use of Promising server and database sharding.

Which version(s) of IBM Sterling Order Management needs to be installed?

Options: 
A- Professional or Enterprise

B- Professional or Standard

C- Enterprise only

D- Standard or Enterprise

Answer: 
C

Question 4
Question Type: MultipleChoice

An implementation professional installs IBM Sterling Order Management in Upgrade mode.



Which attribute needs to be reset in the sandbox.cfg properties file?

Options: 
A- REINIT_DB=false

LOAD_FACTORY_SETUP=false

NO DBVERIFY=false

B- REINIT_DB=false

LOAD_FACTORY_SETUP=false

NO DBVERIFY=true

C- REINIT_DB=true

LOAD_FACTORY_SETUP=true

NO_DBVERIFY=true

D- REINIT_DB-true

LOAD_FACTORY_SETUP=false

NO_DBVERIFY=true

Answer: 
C

Question 5



Question Type: MultipleChoice

In a development environment with an IBM Sterling Order Management system (OMS), IBM WebSphere MQ crashed. All queues have

been restarted and all messages were deleted.

Based on this situation, which statement is true'?

Options: 
A- OMS will reprocess all messages, including the messages from agent servers and integration servers; no further action is required

B- OMS will only reprocess all messages related to integration servers

C- OMS will only reprocess messages related to schedule and release agent servers.

D- OMS will reprocess all messages, including the messages from agent servers and integration servers once the external systems refill

the queues with lost messages

Answer: 
D

Question 6
Question Type: MultipleChoice



Sales orders are being purged using the ORDER_PURGE transaction for which the retention days period is defined to be 30 days. How

does the purge agent select the orders that need to be purged?

Options: 
A- It selects those orders from the YFS_TASK_Q table that are available (AVAILABLE, DATE <= SYSDATE) for PURGE transaction

B- It selects those orders from the YFS_ORDER_AUDIT table that don't have an order audit record created in the last 30 days or more.

C- It selects those orders from the YFS_ORDER_HEADER table that have been in 'Shipped'' status for 30 days or more.

D- It selects those order lines from the YFS_ORDER_HEADER table that have been in 'Shipped' status for 30 days or more.

Answer: 
A

Question 7
Question Type: MultipleChoice

In the following scenario, the system should avoid locking in YFSJNVENTORYJTEM until the overall availability is low (150).



How can this requirement be modeled in the system?

Options: 
A- Configure yfs.hotsku.lockOnlyOnLowAvailability = Y

B- Configure yfs.skipLockInventoryitemList = Y

C- Configure yfs.hotsku.assumeUnavailableonLockTimeout = Y

D- Configure yfs hotsku.useAvailabilityAcrossNodes = Y

Answer: 
A

Question 8
Question Type: MultipleChoice



Which option is NOT an advantage of using the indexing solution in an IBM Sterling Order Management V9.4 implementation?

Options: 
A- All operations can be executed using a Java client object.

B- Data can be indexed by using JSON over HTTP.

C- Configurations can be set at the index level.

D- All the capabilities of Eclipse are exposed through simple configurations and plug-ins

Answer: 
D

Question 9
Question Type: MultipleChoice

An implementation professional runs a test of a web service in an IBM Sterling Order Management solution deployed in IBM WebSphere

Application Server. The web service crashes with no error details nor relevant information in the log files. The implement needs to re-run

the test modifying the log level to obtain more details and fix this issue. How can the log level be modified without restarting the

application?



Options: 
A- Change the log level for the service in the Application Management Console

B- Update the Trace Components List available on the System Management Console under Tools > Trace components

C- Invoke the modifyLogLevel API with the server name and log level required in the API Tester

D- Set the log4j.config.xml properties file to change the log level to VERBOSE for this specific component

Answer: 
D

Question 10
Question Type: MultipleChoice

In a production environment, agent server JVM has crashed due to an out of a memory error on the agent machine. Agent server JVM is

configured to run with 5 threads. At the time of the crash, 5 different records are being processed by the agent server JVM and 1707

more records are present in the non-persistent JMS queue to be processed Agent server JVM is re-started after increasing the memory.

Which statement is true?



Options: 
A- Agent will start processing the 5+1707 records; agent re-trigger is not required

B- Agent will start processing the 5+1707 records; agent re-trigger is required

C- Agent will start processing the remaining 1707 records; agent re-trigger is not required

D- Agent will start processing the remaining 1707 records; agent re-trigger is required

Answer: 
A

Question 11
Question Type: MultipleChoice

In an IBM Sterling Order Management deployment, the LDAP authentication will be implemented as a web service call against the

Employee Active Directory. Which is a valid property for this LDAP implementation?

Options: 
A- yfs.yfs security Idap user



B- yfs.yfs.security.ldap.authenticator

C- yfs.ldap.authenticator

D- yfs.yfs.security.ldap.uri

Answer: 
D
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